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SCORE: |~1/20 POINTS Sn= 2 {a,+ an)

WHERE INDICATED, YOU MUST SHOW THE WORK THAT LEAD TO YOUR ANSWER TO GET FULL CREDIT.

Find the first 4 terms of the sequence defined recursivelyby a, =1, a, =k* —a, , (for k 2 2). SCORE: _~ /3 POINTS
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Find a general formula for the arithmetic sequence whose first term is 6 , and whose fourth term is 11. SCORE: /3 POINTS
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m=2

SHOW YOUR WORK. SIMPLIFY YOUR ANSWER.
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Find the first 5 terms of the sequence defined by a, = # SCORE: /3 POINTS
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SIMPLIFY YOUR ANSWERS.
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Fill in the blanks: For the sum Zam, m iscalledthe  lowev level of suwim adion |  SCORE: - /2 POINTS
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Use sigma notation to write the sum — +—+ —+ —+—, SCORE: | /3 POINTS
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